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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carryfwo marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(Tii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Journalism and Mass Communication
Paper III

IAEER 3AMUT UTehTRdr
wyuEreRt 111

Time Allowed : 2% Hours]
Note : This Paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

question carries Two (2) marks. Attempt All questions.

0 . W Y gred.

AT : A1 YeUIehd THY eee’ (75) sguaEl U9 fooiel ofed. Udish Ueen &M (2)

‘ABP’ in ‘ABP News’ stands for :
(A) Amrut Bazaar Patrika
(B) Anand Bazaar Patrika
(C) Asian Broadcast Productions
(D) Aaj Tak Broadcast Partners

What is the name of the instrument
which is used to measure the
television channel switching and

viewing behaviour of audience ?
(A) Television Monitor

(B) Viewing Barometer

(C) Pupilometer

(D) Peoplemeter

1.

U A A R o1 A T A )
T AT ?
(A) 3d FHR GfTehT

(B) M dR iAokl

(C) TRFA dfehiRe diemry

(D) 3TSIdeh diShEe gread

e SEvgr=a 31, YaTehi=a1 gaai

TISHATY HIOM=AT STHIVTAT T

U ?

(A) fAedsH A
(B) ST aHeR
(C) AU

(D) diverHTex

[P.T.O.



What is the main objective of

formative research ?

(A) to study the effect of

communication on audiences

(B) to study the noise in the
technical transmission of

communication

(C) to decide

about wvarious

elements for message creation

(D) to decide about the economics

of message reception

What is the symbolic embodiment
of all the information connected

with a product or service ?
(A) Positioning

(B) Branding

(C) Marketing

(D) Public Relations

3.
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HHq JeneE™ 9@ S %

FHd ?

(A) TTEhTR UM FATIATAT TR
HAIE HT0

(B) WO YHROMT A1 A1

FHAAET TG HIO

(C) Y IIR oISt amron=an fafay
PreacicriEUpERcL|

(D) Ha1 TguIr=A1 fefeh srsjairerd o
0]

U@ IR Al Jar ar=arh e

Y Hifedie dlehlcHsh &9 HIUd 7
(A) g

(B) sifen

(C) Hrhfen

(D) SE9h




Which site that is widely created
with bringing online social
networking into mainstream of

computer users is ?

(A) Facebook

(B) Orkut

(C) MySpace

(D) Friendster

Which  committee  strongly

recommended granting broadcast

franchises to educational

institutions ?

(A) The Vardaan Committee

(B) The Chedda Committee

(C) The Verghese Committee

(D) P.C. Joshi Committee
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T ATIROTATHEY AN FedfehT TR

TS GHTUTER Ik hvdr= S &I

HITTAT FITA AedfehT HEAl <dl

Id ?

(A) ®EIH

(B) 3ffh2

(C) H&Eg

(D) et

IO G o TR gER

TFh SUgME] IR Sl el ?

(A) T aftd

(B) =<1 |fHt

(C) aftte HfHdt

(D) 9=t el |fEd

[P.T.O.



Which of the following restrictions
does a Reporter need to be aware

of to perform his duties properly ?
(A) Empathy

(B) Embargo

(C) Embedding

(D) Emulsification

Arrange the correct sequence of

covering a news item :

(z) Collecting information
(z1) Visit to location

(zi1) Taking a photograph
(v) Writing the news

(v) Confirmation from other

sources
(vi) Tip off

A) (D), (@), (), (), ), (i)
B) (vi), W), (D), (), (i), (iv)
(©) (D), G), (i), W), (D), (iv)

D) @), (), (), (), (1), (vi)
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SdTEUe el ShTH AR UGH HLTaTEIe!

EcAteTdeh! shivredn TTIHAT= Sole 3T

STAYIh 3T ?
(A) THfeft

(B) Tl

(C) wifE

(D) wHfeHfhH

o (aV

e OTdich Ul UihIdid I

HHAR IO 2

(@) Hifedl Teel 01
(ii) SRl 9
GRERICERCE
Gv) raHt fafga

(v) 3T HIdihgd TIAEH 60

(vi) STl FHURU AN

(A) (vi), (D), (@), (Gv), (v), (iit)
B) (i), (v), @), (@), (ii1), [Gv)
©) @), @), (i), (v), ({FED), (Gv)

D) @D, (), (), (o), (@), (vi)




10.

Who among the following was not
a member of the Marxist School of
Applied Research in Frankfurt also

called the Frankfurt School ?

(A) Harold Innis

(B) Herbert Marcuse

(C) Walter Benjamin

(D) Theodore Adorno

Which of the following is not a
correct pairing of Newspaper and

Newspaper Publishing House ?

(A) Bennet, Coleman & Co —Times

of India

(B) Kasturi & Sons—The Hindu

(C) Ushodaya Enterprises—The

Eenadu

(D) Jagaran Prakashan—Dainik

Bhaskar

9.

10.

DEC-19313/111

TIeeieh! 10 Thehhenea IqAIfad

Teigd fawre=n (s1efd %heahe what)

e el ?

(A) &g 3@

(B) ®eid HeHH

(C) dfeeX SIS

(D) fasiEr 1Ml

IO SIS AT SR ?

(A) S92, HITH e & — TR 31h
sfean

(B) &=l ot o — f§ fig

(C) Sud GeEeE — g g g

(D) SIPRUT Ghi¥H — <ffeh W&

[P.T.O.



11.

12.

Which of the following is not a media

related Act in India ?

(A) The Official Secrets Act, 1923

(B) The Criminal Procedure Code

1973

(C) Indian Post Office Act, 1898

(D) The Press Ownership Act, 1975

The Toronto School of thinking
about the media in the post-Second
World War Period pioneered by the

Canadian historian :

(A) Marshall McLuhan

(B) Noam Chomsky

(C) Harold Ennis

(D) Sergei Eisenstein

11.

12.
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GcATeTdeh! ShIOTdT WRdTde] HIETHISS=eh

FES AR ?

(A) TR TYEar SIEEl, 1923

(B) TSRl €8 Hfegdr, 1973

(C) YA BT HIFET, 1898

(D) JTUS HIcR! hIAST, 1975

TEAT  HEHQEHAAT  hIBIArd
HemeEe= IR foarure (3R
A A® ffRT) STMA o ?
(A) TRId HeeH

(B) M =Tt

(C) &es 3™

(D) TSl SAEET=IEA




13.

14.

The utilitarian principle of seeking
the greatest happiness for the

greatest number was first

propounded by :

(A) Spinoza

(B) Karl Marx

(C) John Stuart Mill

(D) Aristotle

Which English poet made the most
famous early and eloquent claim for

freedom from Government control in

1644 ?

(A) John Dewey

(B) John Dyke

(C) John Milton

(D) John Smith

13.

14.

DEC-19313/111

SIS ESIRGIEIR IS LIRSS RSB

ST IUEIdEIS! e dfecdiat ot
gl ?

(A) fearen

(B) =1t Wi

(C) SIF wer fua

(D) sfieiea

ey fresonfaegd, 1644 Hiell geH

0T YeR 3T IS SUSH hall

Ho ?

(A) SH =
(B) S SEH
(C) SiF fHeea

(D) w7 Ty
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15.

16.

17.

For a media business which two

elements are most crucial from

economic point of view ?
(A) Owner and Editorial
(B) Publisher and Owner
(C) Consumer and Advertising
(D) Government and Advertiser

Which of the following terms loosely
describes media content that
involves description or display of
themes and

explicit sexual

scenes ?

(A) Obscenity
(B) Pornography
(C) Romantic
(D) Vulgarity

“Surrealism” in film studies refers
to :

(A) Art movement based on the

unexpected and shocking
juxtaposition of unrelated

images
(B)
(®)

Pseudo-Realistic films
Silent films featuring vampires

(D) Post-realism

15.

16.

17.
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AT JENTETS!, AfYhgsa v g

Y2eh Gaideh e A9dd 2
(A) Wt 0T HIRH

(B) TehTelsh AU HIeTh

(C) Wresh 3o Sferdt

(D) vmEA Ao SfedraeR

A YA Tifieh SIeH ST oifiteh

Fr g9 A IS oAU Shd W

I IU hive IS 31fe gHUS
HE A4 ?

(A) STvciterd (Arsafet)
(B) hafe=0r (QHUTHRT)
(C) yorEgyE (Jdfew)

(D) SHEA (TSI

fagge  s1wgmEa Afqarsaadrs

(Tffersm) =S wE ?

(A) TR stqefyd gfamre e uferd
oAU Y fHS0 TrEEauml
hcdl dodded

(B) Y¥Heh-argd fage

(C) TR 95 STEEUR Hehue

(D) IW-ATEaalg

10
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18. Which of these film directors was | 18. J@Ieidenl =hIvrdl feTesieh el Teyearerdied
not one of the French new wave film fooae fafeite At ?
makers ? o
(A) Sl ATHTETEA
(A) Sergei Eisenstein .
(B) Sif-of TieR
(B) Jean-Luc-Godard
(C) T U
(C) Eric Rohmer
(D) =l Hsile
(D) Claude Chabrol
19. “'9&Uu el § WS- "o e
19. Which important change was
. . . ST ARTATAT FAl=d  —ATATAATAT
brought about in radio sector in
India by the pronouncement of FeRTees STRedret ;
Supreme Court of India that ‘air el < "G el ?
waves are public property’ ? (A) it fear Yesiams:  Tar et =i
(A) Prasar Bharati was established T HI0ATT ATl
to look after AIR L. .
(B) 3Afa sfean et =AU AT
(B) AIR started its international ¥ & FAE el
commercial service
(C) Tt SMal Th.TH. aifearde!
(C) Radio was opened up to private
Aeal & Fel HOAM A
commercial FM stations
. _ (D) &e fesq wgEda A=Al
(D) A Public Sector Corporation
was set up to regulate the TP HESh AT
content of all radio stations RHEE TAMTUAE AT
11 [P.T.O.



20. Statements :

(p) Public Relations primarily aims
to influence the journalistic process

to get positive publicity and thus

create a positive image of a
company.
(g) Corporate communication

aims to integrate company’s
communication with various internal
and external audiences and
stakeholders so as to create a
cohesive communication flow and

positive image of company.
(A) (p)is correct but (g) is incorrect
(B) (p) is incorrect but (q) is correct

(C) Both (p) and (g) are correct and

(p) is subset of (q)

(D) Both (p) and (g) are correct but

(p) is not related to (q)

DEC-19313/111

20. fagm

(F) FHYERE anTel 9t fHeafauamardt
a9, Y- =Tt gfaar fmior Svarst

o fa

ThIid=al gfeaen gwrfad &<

SHETRE THE 3fER 3.

(@) FHuHIhg 3idid o aTed FHhien
BT WAAHES G SO0 6
TIER A=A hU-T] TehRIcHS TfadT

fior =0 @ gaumEtss "9

(FMIRE FRIHIF) TqE e 3.
(A) () faum ¥ 318 971 (@) 39

e

(B) (=) faum 19 1€ 901 (@) 99
38

(C) () =1for (@) & =l faum g
3A (F) T (W) o Th I 3T

D) (&) A1 (@) & =l fagm g
aed 9 (&) = (W) I gIy
RIS
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21. “While the readership of newspapers

is fast declining in the developed
western countries, it is increasing in
India.” Which of the following
statements correctly explain this
trend ?

(1) Literacy in India is increasing
thus adding new readers

(i) Price of newspapers in India has
remained consistently low

(zi1) Internet penetration in India is

still very low as compared to the

western developed countries

Policies of Indian Government

(iv)

are very conducive for

newspapers than the policies in

western developed countries
The correct answer is :
(A) @), (@i) and (i)
(B) (it), (iit) and (iv)
(C) (i) and (iv)

(D) (i) and (iv)

21.
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‘g qIEETd QINAE g

AR 'éil-lld‘?-ll":l Edd YA, HRATd

A ot e e, ! Weiieyeh! shivrdt foem

Tl JaTeTa AN TSR0l T3 Yehdld.

ORATd F1&Rd= JHTT died 3T
T3 greehel o g SR

@)

(i) WRATH JAa== fhAd A HR

S leed 2.

(i) T AT QM= Jaiid WA

gee=al fawm= gamoT & Hi

3.

(iv) 9T AIEATCH QIMUE WRATd T
3y Wk 3R

I I IR

(A) (@), (i) 3 (iii)

B) (i), (i) A (v)

(C) (i) =fur (jv)

(D) (iK) A (iv)

13

[P.T.O.



22.

23.

Find the incorrect pair of programme

and director from the following :

(A) Sa Re Ga MA Pa—Gajendra

Singh

(B) Mahabharata—B.R. Chopra

(C) Kaun Banega Carorpati—

Siddhartha Basu

(D) Bharat Ek Khoj—Govind

Nihalani

Elizabeth Noelle-Neumann referred
to the tendency of those who thought
they held a minority or deviant view
and refrained from expressing it in
public thereby accelerating the
dominance of the supposed
consensus. She called this tendency

as :
(A) Agenda setting
(B) Framing

(C) Spiral of Silence

(D) Cultivation

22.

23.
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EATAdeht w37 feresierr=i
ol SISl el :

(A MITH Y — Teig fam

(B) "R — WI.3TR. =9el

(C) &F oM Heud—Taged ag

(D) YRd TH ©S — Tifag fTeart

FATSITCA ST SEehT 379 9Ted Shi =i

fehT STeaHdrd 3T fohall Faiferd yftehet
6 UM 3TE, T = fHehT resieh

HUISIER SeRT Shdcl Shordld o oS

TR a1 YTHe Ul o A 3T
I 2. Tesmerd Aua-=gad At A

yfsraa 90 F9 S AR ?

(A) v A=t (eteier @fem)
(B) =rehe fafeadt (i)
(C) Th-3Ted (FTIRRA 3h dei4)

(D) UEhRU o HIMWE (ehfcey™)

14



24. All media messages would be treated

25.

as ‘Product’ and audience as a
commodity to be sold by media to
advertisers. Which of the following

words describes this point of view ?

(A) Commodification

(B) Commercialisation

(C) Macdonaldisation

(D) Tabloidisation

In the context of advertising ASCI

stands for :

(A) Advertising Standards Council

of India

(B) Advertising Social Code of India

(C) Advertising Society’s Code of

Instruction

(D) Advertising Standards Code of

India

DEC-19313/111

24, WU Hd STRMEMET ‘SARA’ WUH

25.

smfor ekl (SAffead) ‘g%’ wUH

STEUaeRIT fIRvamarst STANT Shell S

SThdl, A1 I Jeiatdeh! hIoTe

Ylea™ IUH B Yhd ?

(A) SO (FHHATSHRTA)

(B) HIERIRI (HARTHAERTN)

(QI:ETSEIGSPENE

(D) TATTSTHRNH

Sfeddi=n geuid ASCI = foar®y
HIOT ?

(A) Ifegeafsi Wee wifad ®
gfea
(B) 3feseiafsiT T s 31w sfea

(C) 3fe=e I TS g A®

TR

(D) sfewefafsm Weeq Hie A

gfem

15

[P.T.O.



26.

27.

The process by which news becomes
more sensational, trivial and

irresponsible is called :

(A) Macdonaldisation

(B) Tabloidisation

(C) Urbanisation

(D) Tribalisation

A fundamental organised belief
system or set of basic values that is
disseminated or reinforced by
systems of communication, generally

speaking is called :

(A) Ideology

(B) Theory

(C) Perspective

(D) Opinion Trend

26.

27.
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qraeT ST WAgATel, gan ATy

o~

SSTaTeIGR Sd SToAT=AT Ui

Il JAIAT

IRYST w1 WA 2

(A) HRSHCSHEIH (HeRgHIee ehI0)

(B) TAtTermEgH (il ohun)

(C) STEIEYE (ARSI

(D) fefeaamEem (Faeo)

qeHaY STHAH HAYd ©RUM 3{efel

IRl T FAEgR FHISI

TEIRA o1 gl B S, ™ GRon o

IR 1 WU ?
(A) fe=myome
(B) 39ait

(C) T=IRM

(D) HdgdR®

16
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98. “Transit advertising’ is a part of : | 28 G g Sfedd &1 M= 9
e ?
(A) Out-of-Home Advertising . .
(A) 3T 3k BH Sfedd]
(B) Broadcast Advertising (B) W& e
(C) Transistor Advertising (C) §||(\"$Nd{ qﬁ%{m’]
(D) Online Advertising (D) 3Acrsd e
29. When a camera shot covers a vast | 99 g1 wamn #AU fes=iwdd TR Ty
geographical area and objects T onfor o e fEEar @ vifeen
appear small, the shot is called : F19 TEUAE 2
(A) Extra long shot e
& (A) TR @ wre (geX =)
(B) Mid shot .
(B) faswre (wwm fo=)
(C) Close up
(C) FASieTq (9 =)
(D) None of the above
(D) SRITUh! hHIUATE! TR
30. Which of the following models
. 30. qEds! v YfqammE  (Aigd)
incorporates concept of gate-
keeping ? AU Hehed T Sfayd e ?
(A) Lasswell’s formula (A) wrEeers Ffqwr
(B) Berlo’s model (B) it gfaHH
(C) Katz and Lazarsfeld two step (C) &I A AcgrEheed fqaaii
model A (-9 Tl Hied)
(D) George Comstock’s Model (D) s FHelea gfaaH
17 [P.T.O.



31.

32.

33.

India’s first Soap Opera, ‘Hum Log’

was aired in 1984. The

main objective of the serial was to

promote :

(A) Small Family
(B) Anti-alcoholism
(C) Gender Equality
(D) Education

Who has directed the Russian
films—Battleship Potempkin, Ivan
the Terrible, Seven Steps ?

(A) V.I. Pudovkin

(B) Sergie Eisentein
(C) Lev Kuleshov

(D) Alexander Pushkin

Which of the following community
radio stations in India Dalit Women

are the key programme producers ?
(A) Gurgaon Ki Awaaz

(B) Radio Sangam

(C) Vasundhara

(D) Namma Dhwani

31.

32.

33.
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ORI gfge ‘99 W0’ 1984 Hredt
YR ST, AT HIM=T THR SH 0T
39U BT ?

(A) B Hed
(B) SrEdt
(C) Hf-ges gHMd

(D) TIreqor

HARTT qierfehd, S®M § Red, Y&

= 1 WrA fesueq faesis w2

(A) .3, qerafed

(B) Tfg STEEr=rE

(C) &d FHevE

(D) TR gfteh

JEIcTUeh! ShIVTE! ARG higfel 3l
hSTd UMHEA Sferd Higel SRl o

FRd ?
(A) TTSTa & @S

(B) Yedr g=m
(C) =g=™
(D) 99 gt

18
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34. The first Indian newspaper—the | 34 v Rardal fget FAAMT—TT ‘St T3’
‘Bengal Gazette’ was published in ¥ 1780 W Fi TR AR ?
1780 at :

(A) HHUR
(A) Serampore

(B) feme
(B) Dibrugarh
(C) Kolkata ©
(D) Azamgarh (D) 3T

35. Which of the following ethical | 35. WEIHHE) Welicideh! IV AT T
percepts can be used in Media ? I Adter 2
A) The gold le—do unto oth . N
(A) The golden rule—do unto others (A) gavifrga—saaeft a8 arm, S48

as you would have them do . . N
Sl gH=AIRIT Alld T dreldl
unto you
.
(B) The golden mean—finding a
middle way is better than (B) Fort w1 — T A s v
extreme geqEn} e
(C) The categorical imperative : (C) ®R S&49 faemees g enfo
rules or laws should only be used FTHE AT TUEE AT
that apply to everyone at all . - q
PPy Y Tedie]. ThMEae YA Bt
times
(D) SRAUh! T8 SUANT
(D) All of the above can be used
19 [P.T.O.



36. With respect to Indian television

which of the following statements is/

are correct ?

(1) Terrestrial transmission mode
dominated the TV Industry till

1992

(1) The cable and satellite mode

picked up fast from 1994

(zii) The DTH mode of transmission
is showing steady increase since

2005

(A) Only (i) is correct

(B) only (ii) is correct

(®)

only (i) and (i) are correct

(D) (@), (ir) and (i17) are correct

DEC-19313/111

36. YRANIE Qra=ai=a e @eiiadeh!

HIod faum a1 Fiod faum ¥

ed ?

() ohs! THRO R 2reel SN

1992 9Iq g TEA

(i) 1994 U el o IqUg fodom=n

A HISI JHUMER Sl

(iif) 2005 9YA ‘EI.ITE’ TgdreA

faaeome yamor gad ded TR,

(A) T (i) T TR

(B) ®e (ii) 9 3T

(C) e (7) 3for (j7) I 3T

D) (), (i) T (i) T 3T
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37.

“After a certain threshold, increase
in circulation of newspapers may
actually deplete the profit.” Pick up
the most correct option from the
following which explains this

statement :

(i) The statement is incorrect
because more the circulation

more is the advertising revenue

(i) The statement is correct because
more circulation would mean
more expenditure on costly

newsprint

(i11) The statement is incorrect
because increase in circulation
would

bring in more

subscription revenue

(iv) The statement is correct because

more circulation would mean

more payment to employees
(A) Only (@)
(B) Only (7)
(C) Only (it7)

(D) Only (iv)

DEC-19313/111

37. ‘‘fafire gAfcAR Iaa=T= WA 91

o IR TR YHIO 529 Wehd.

EcileTdeh] IOl 4T § faum Haifies

Jafq T k& IR ?

() T faum =% 3R &Ru iy @a
/U A Sifeda 3

(1) T faum SR e SR e @9

US| RIS HRl ST hITEIe]

SESERCE|

(ii7) ® oM = 378 R0 Afuw @y

US| dTaehihed THRUR ek

3

(jv) T fauM SR T FHRUT 37 @Y

RS HHIATA] el BRI

sifyes e
(A) ek (i)
(B) ek (ii)
(C) e (iit)

(D) W (v)
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38.

39.

40.

The News Broadcasters Association
(NBA) a collective of 12 Indian
Broadcasters formed in 2008 doesn’t

include the following networks :
(A) Sun TV network

(B) NDTV Ltd.

(C) TV 18 Group

(D) ETV  Group

Pippa Norris referred to the
inequality in access to and use of
advanced communication facilities

as the :

(A) Urban-Rural Divide

(B) Have and have not divide
(C) Literate-illiterate divide
(D) Digital divide

The exact replica of a newspaper on

a website in called :
(A) Newspaper online
(B) E-News

(C) E-paper

(D) Online newspaper

38.

39.

40.

DEC-19313/111

Y9 2008 Hrefl TMAA Hroiedl =
SEHEH AUEWHE (THH.T.) 7 12
TORUEHE e9Fl Sel B, Seiierdeh]
I TE A HWWR el ?
(A) &1 IR ek

(B) w.€.d.=.fa.

(C) A= 18 9qe

(D) zd=f. 9qg

JY(Teh TG G STereed Ao
TR IS FHASTHE ST foasHa
guiA fgqr 91t e s s ?

(A) el enfor wor gh

(B) 3 Y A& Y Ir=AA <4
(C) gffara-stferfa <0

(D) fefSies <&t

Hohd TIBER H3Id SAHMISTE! STt gogd

Ud hUad Ad faon =+ WUk ?

(A) ISAR AR

(B) -
(C) 3-TW

(D) SR <LEAR

22
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41. Participatory communication and | 41 Hgwrehsl G99 30T gga AT o=
two-way communication are : GHeT T
(A) One and the same
(A) THd 3Ted
(B) Two different concepts )
(B) T f4= HeheaT 3ted
(C) Two unrelated concepts
, (C) T FoY T9ciedl Gheudl ATed
(D) Two associated concepts
42. TRAI represents regulation of which (D) T WEHES FHAT R
of the following ? S 1B
(A) Broadcasting, telecommuni- | 42 ‘T@’ 91 WfeeiomgR Weiciish! ST
cation frm da s 2
(B) Cable, computers, telecommu- )
o (A) TERY, TEHAR
nication
(C) Cable, telecommunication, (B) ’
Broadcasting (C) had, TIAR 3T GHRY
(D) Telecommunication D) W
43. Which of the following describes the . .
8 43. ‘U9 wif-ga’ SN GEEE HEAS Tl
correct status of Press Council of
. GTeAeTdeh! hIvel T e el 2
India ?
(A) Industry body (A) STENfTeh ween
(B) Government body (B) TR HEAT
(C) Professional body (C) =AadTfae T
(D) Quasi-judicial body D) Fr-=fre e
23 [P.T.O.



44.

45.

46.

Who among the following started

English as well vernacular

newspapers to mobilize public
opinion in favour of independence

from colonial British Rule ?
(A) Lal Bahadur Shastri
(B) Jawahar Lal Nehru
(C) James Hicky

(D) Mahatma Gandhi

The salient characteristic of

experimental research is :
(A) Field data collection
(B) Variable control

(C) Evaluation

(D) Policy formation

The first committee established to
look into broadcast regulations in

India is :

(A) Verghese Committee
(B) Chanda Committee
(C) Joshi Committee

(D) Prasar Bharati

44.

45.

46.

DEC-19313/111

agreaare fadier gxuygd w@a
fesfauarardt S9a fmfor sheoaresiia
@reftaden! vl susht snfor grRfvrs
I A9 & hall ?

(A) <l SRIgY SISt

(B) SO A8&

(C) v fe=ht

(D) weren e

TS SR & dfireed & ?
(A) &5 q2 HehoH

(B) =X s

(C) HeIHMIA

(D) &Ry it

TERO ATl AT SHuard SAeies
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47. Public Relations Messages appear in | 47- STHTh TR ATAHE hITeA] T
newspapers as : a@ RMehdld 7
(A) Features (A) @
(B) News (B) wraen
(C) Editorials (C) sHriE
(D) All of the above (D) et ¥
48. Who was the heroine of First Indian | 48. ¥RAwiel ufeen sieue ‘sterema’ =
Talkie film Alam Ara ? BUECINCIL
(A) Devika Rani (A) <ferep ol
(B) Kamalabai Gokhale (B) HHEE @
(C) Nadia (C) fe=n
(D) Zubaida (D) el
49. Which mobile handset company | 49. I HiEEA TSUS HUAeN HRH
recently lost a patents law-suit IR g Teedd 3R
against Apple in the US ? qeeh el AANTell 2
(A) Nokia (A) e
(B) Sony (B) 4
©) LG (C) Tt
(D) Samsung (D) SEE
25 [P.T.O.



50.

51.

52.

Television was introduced in India

for :

(A) School education

(B) Non-formal education
(C) University education
(D) Adult education
Which of the following is the basic
lighting setup type ?

(A) Key

(B) Fill

(C) Background

(D) Three-point

Queer TV refers to :

(A) Television through internet

(B) Gay, Lasbian and bisexual

characters on television shows

(C) POP music which offers a range

of images of men and women

(D) Name of a satellite channel

50.

51.

52.
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RArd  gIfE=Eroii=n IRy HImHre!
L

(A) e fareron

(B) str=nfiar ey

(C) fommdidta ferero

(D) dre fao

TTCieTieh! ShIVAT FehRESTa1 JAd
He3q AR ?

(A) ot

(B) Tt

(C) JRUHE

(D) #fi-uige

fer d=d wuN kE ?

(A) 3THGER gXfersrardh
(B) fa=amoft ik Fufer o

ST SHforE

(C) wfgen smfor gesr Ar=a1 uivw
Hfsrradtar fafay gfam

N

(D) THT 39Uy Ao arfara

RIE
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53.

54.

55.

That consent is being manufactured
by the media was first propounded
by :

(A) Marshall McLuhan
(B) George Orwell

(C) Noam Chomsky
(D) Harold Innis

The theorist who argued that the
Gulf War did not take place :

(A) Jean Baudillard
(B) Noam Chomsky
(C) Susan Moeller

(D) Marshall McLuhan

The term BROADCASTING comes
to media studies from the domain

of :

(A) Agriculture

(B) Information technology
(C) Genetics

(D) Dramatics

53.

54.

55.

DEC-19313/I11
WAGR  Ferdrel HHd (W
HATF hde) hell d TR 3T gfqarea
Iq FUT el ?
(A) TRfE e
(B) SISl Afeet
(C) m =rew=nt
(D) &ies 3™
I HEfehRT=aT HA ST JEH e
T ?
(A) <& ifces
(B) ¥ =feent
(C) He Hier
(D) R Here™

LI STIEE AlSheen’ & gl

R &G Al ?
(A) ¥t
(B) wfedl o=

(C) STIhImA

(D) TECIARME
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56.

57.

58.

Which of the following is not a part
of Shanon & Weaver mathematical

theory ?

(A) Source

(B) Transmitter
(C) Computation
(D) Receiver

Which among these news media

organisations did not enter

television in the early years ?
(A) Bennett Coleman & Co.
(B) Business India

(C) Living Media

(D) Indian Express

What is not included in corporate

identity ?
(A) Logo
(B) Trademark

(C) Company colours and style of

dressing

(D) Impression of Public

56.

57.

58.

DEC-19313/111
EctcTdeh! &1 99 o diegl=a Tl
yfoaEr=n 9 ATer ?

(A) 9
(B) 989
(C) TUMT

(D) iR

qEAdHT HITAT HILATSAIGTI

fersramfi=a gRHft=n Heeld & &I
Fo9T hell Aegdl ?

(A) S HieHa 3fe &.

(B) feafga gfean

(C) fafen fafem

(D) sfea TrTg

‘IR STEEfed’ WL HumEl HHOR
il

(A) <

(B) IeH

(C) hufta T ST eregen

(D) TSI Gfcen
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59.

60.

61.

When the Internet is used as a
medium of public relations such

activity is called :
(A) IT PR

(B) Technology PR
(C) Online PR

(D) Internet PR

The process of gathering information
from selected samples in research is

called :

(A) Review of Literature
(B) Data Collection

(C) Data Analysis

(D) Data Sequencing

Which communication researcher is
associated with the term cultivation

analysis ?

(A) George Gerbner
(B) Everett Rogers
(C) Wilbur Schramm

(D) Harold Laswell

59.

60.

61.
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STegl STHEYeR [HTa! $2Hed oI shall STl

degl I k1 WU ?

(A) wifedt d5—H S99

(B) IR SEIh

(C) STz SHETh

(D) HE TT9YH

el faes TH-AgaR Aifedt el

o~

h{Udl=dl Hl

IAl h1T WU ?

(A) qedIfgar=n STerE
(B) deHHHeH
(C) deafasom

(D) dFEE

IO G99 GYNeeT= A19 HINT
foagurrsft Sireeiad 3me 2

(A) wifSl TR
(B) Weke s
(C) oo oM

(D) e arFad
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62.

63.

64.

Which of the following is a

development communication

approach ?

(A) Spiral of Silence

(B) Diffusion of innovation
(C) Cone of experience
(D) Cultivation

Which major international event
gave a major boost to introduction

to colour TV in India ?

(A) NAAM summit

(B) Commonwealth Games
(C) Asian Games

(D) Commonwealth Summit

Which mobile company used

the character ‘Zu Zu’ in its
ad-campaign ?

(A) Nokia

(B) Vodafone

(C) Reliance

(D) Idea

62.

63.

64.
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Eetd®! Hioral fashme ST
Tl g ?

(A) A e

(B) eld= eI

(C) STwar kA

(D) ==ITd

~ .

HIUCAT AR TS Ao

aRArd TMa gIfasari=t gEam

HIAHS Gon et ?
A) stferarrse forer qftse

(B) Usghdl shiemqHl
(C) MfYrE shiereqe
(D) Tgpa ferer afteg

I TS e Siedrd 3]

) AfF@=l IR oA 3Tl ?
(A) ifeRa

(B) =TS

(C) e

(D) smfean
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character of ‘Lalitaji’ in its ‘Aferarstt’ A1 Al Hicdl FHTIMER
advertising Compaign ? G EC U | r M 1 1 |
(A) Nirma (A) fr
(B) Surf
(B) 9%
(C) Ponds .
(C) d[ieH
(D) Wheel
_ _ , (D) =ra
66. Which of the following sequences is
not correct ? 66. AU HIUI HH AT TG ?
(A) Films—Silent to Talkie (A) feaTe — gue T deue
(B) A/V Recording—digital to (B) safifammsy — fefsee 3 sfmam
Analog .
(C) Bfad — FHogad d Tild
(C) Photo—Black & white to color
o (D) ¥ — wnfss o M3
(D) Communication—verbal to
nonverbal 67. ‘ToRE TSUAET W' 7 eiatdeh] hivre]
67. “Opportunity to See” is a major STfEIq-HAIEH=AT STod. Heeoren e
criteria while using which of the g ?
following advertising mediums ?
8 8 (A) el et
(A) Hoardings -~ A e A
(B) et el
(B) TV Ads
(C) Tesverde et
(C) Film Ads
D) EeTie el
(D) Internet Ads (D) ¢
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68.

69.

What is common to these films ?
Sound of Music, Schindler’s List, 127

hours, Beautiful Mind :

(A) They are directed by Stever

Spielberg

(B) They are musicals

(C) They are based on real events/

persons

(D) They have been remade in

Hindi

Which of the following cannot be a

part of a survey questionnaire ?

(A) Close-ended questions

(B) Open-ended questions

(C) Appeal to respondents

(D) Model answers

68.

69.
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=se Ak e, Read faw, 127

3TEH 3T Fehel A5 1 Faaverde

T TS hIOT

(A) d Hoa ety ferefsfa o
Ted

(B) 9 T Ted

(C) @ AT HA/FFAaT  Smenfa

3TRA.

SIS\

leql [{Heh

I 3T

(D) THTEA

3TRA.

T &T0T GsAreretd JereTdent I ST ¥ehd
M ?
(A) dfeE 991

B) Td I

(C) gfqEeshiT 3TaTe

(D) ey SW
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70. In the context of Public Relations

which of the following statements is

true ?

(A) Medical organisations do not

need PR

(B) All media can be used in PR

activities

(C) Internal PR is not so important

(D) PR means only getting publicity

in the media

DEC-19313/111

70. SHUYRTE FEHd JEietieh! v faem

| 3 ?

(A) TR ATATTA SHEIhR T TS

THd

(B) SHEYRI=AT hIATd Td HIETHET

ST @S Il

(C) 3iqid ST 9UYSial ®RA HE

.

(D) SHTh U Thed HILAHTT JiTSedt

e <.

71. According to the theory of
‘Sadharanikaran’ the process of 71. QWIERUTHIOMHS eff=a1 IqTear{d
‘Sadharanikaran’ takes place in real TIRHTI T A GRS il
sense when the people involved SRl WeieTdeh] hid AHUIET TR
are : 3d ?
(A) Sahakaree (A) FEhrl
(B) Sahodar (B) TERX
(C) Sahriday (C) T
(D) Sahaadhyayee D) e
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72. The ownership pattern of

72. VIRATHA OSSN Al Jeed

newspapers in India can be best
described as :

(A) Monopoly

(B) Oligopoly

(C) Monopolistic competition
(D) Perfect competition

Read the passage and answer
next 3 questions :

Today the rate of change is
becoming faster and it is difficult to
predict. What our domestic media
will look like in ten years time. Mark
Thomson, Director General of BBC,
when launching the BBC’s plan for
digital future talked of new world of
‘Martini Media’ where viewers and
listeners want to pick ‘n’ mix their
programs “any time, anywhere, any
place”. We”, the audience are
increasingly becoming members of
various communities who, probably
for some of the time will watch or
listen to BBC programs but not
they

necessarily when are

transmitted.

(Passage from media studies—The
Essential Introduction for WJEC-
2010 specification—by Bateman,
Bennet et.al. Routledge .page—117)

qU TIeeTden] HITAT A Hl
Iq ?

(A) TR

(B) Trerfeshimet

(C) THITIhRehsl TaecHh

(D) oreel wfcash

GlelleT aisde aren ST AT ai=an
?ﬁ"-[‘i’&"l’l’iﬁ?iﬂi‘m

" AT AT G Taeh] dieall 3T’ i,
AT <2 oI 3Tt Tk ATea el
JEAA § AU A TS 3TR.
9. e AR e SfHES At
ot g fefsea ufasaeres fasei=
FHEHH Gfag wAH @rged mfet
fafean’ & dhea Ared. fafay Tam
g0 S sargw ‘ wfEAR sAfael S
YA Yafeh M= ASHJHR hidishH
g 'heiEl, fodl AU IRl
fomoft'! = STATg Hdter, Yeteh fafay
ST Fa&d Id Sdrel. o weir el
e TEiHT ediel o Thdld § B
AT STl SATeedld GHIR hict creees!
Jefeh & O UEdia 8T W TR

ECIRIR |
SASRM[-9HT, 92 3. ®IolSl ThRH

T53-117)

(fafear wwEi9—<1
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73.

74.

75.

The passage hints at audience
viewing at times different than
when a program is transmitted in
media. This is aften referred to as:

(A) Time displacement

(B) A synchronous weaving
(C) Time shifting

(D) Late viewing

The concept of Martini media refers
to :

(A) Viewers can choose the time
and programs as and when they
want

(B) Viewers can only choose
program but view it when it is

transmitted

(®);

Viewers can combine viewing
with drinking

(D) All of the above

Mark Thompson says that it is
difficult to predict what domestic
media will be because :

(A)
(B)

Audiences will not be there

There will be too many
programs to keep track of

(®))

His viewpoint is not correct

(D) We cannot predict who will

watch, when, where and

what

73.

74.

75.
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HRIHH TR SV dosdall aiTesdl

Aoscdl ThTIShH ISl SToAT= SRl &l

gftzeerd gfad H{0Ard ATl T8,
qregaiea] gfRmeid ATl HTd Tl
S ?

(A) HAYI I (EH

o NN

[SHIHHS)

= I

(B) 1gea® <¥H (T fHsmg =ggm)

(C) F <¥H (Ew forwdim)

(D) foreiees (e =gEm)

IR ?

(A) U&Teh =1 SHIAR HIhH ST
YU e 3 ITehdld

(B) eI Thad IVl hUshH TRl
¥ g Thad A Al JHIRG 2R
deerd A Al e THosd

(C) 3eTh &HEFHH Fe@ o fus
RMehdld

(D) afa ¥a

Tqfeh ATy wfosard &Il T9did °

QA0 e 3 o9 Ak ATHEd

Wordd ?

(A) SR ded Yeehd A

(B) AN SAUATESI GUA S hldshH
ST

(C) Heold & U Jehid 38

(D) kiUl kEfl, hegl, HS AN HA
qifgetl § M0 STTEE 3R,
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